
CORRECTION GRANDEURS ET MESURES – CM1 
 
 
Exercice 4 
 
a. Possible 
b. Impossible 
c. Possible 
 
Exercice 5  
 
a. 85 000 cm = 850 m 
    12 dam = 120 m 
    60 dm = 6 m 
    2km = 2 000 m 
    700 cm = 7 m 
    9 000 mm = 9 m 
    3 dam 5 m = 35 m  
 
b. 9 000 m = 9 km  
    20 000 dm = 2 km 
    1 000 m = 1 km 
    305 000 m = 305 km 
 
Exercice 6  
 
a. 200 cm + 13 cm + 4 cm = 217 cm 
b. 500 cm + 450 cm + 3 cm = 953 cm 
c. 4 300 cm + 460 cm + 128 cm = 4 888 cm 
d. 4 500 cm + 560 cm + 45 cm + 7 cm = 5 112 cm 


